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Home
(volts)

#24

122475

122.2
122.7
122.9

123
1222
122.2
122.4
122.2
122.9
122.7

123
122.7
122.7
122.9
1231
122.4
122.5
122.3

123
122.9
1231
123.1
122.5
122.7

0473
0.505
0.502
0.485
0.487
0.493
0.491
0.471
0.504
0.508
0.502
0.496
0.495
0.488
0.503
0.503
0.493
0.497
0.491
0.485
0.497
0.516
0.503
0.505
0.493
0.485
0.502
0.495
0.508
0.495

#6

Screw Lengths
Fraquency

12

(%]

(S 13338

0.45%

b

Serew D

6.4995

0.5045



Chapter 2 StatCrunch Math 15 Jones

Sort Data: Click on [Data] and find [Sort Columns]. In the window that pops up select the column that
you which to sort with vour curser, and click on the button [Sort Column]. This creates a new column with
the data sorted.

Frequency Distribution: If the bins or classes have more than one outcome you need to first BIN the
DATA. To do this, click on [DATA] then find Bin Column. In the window that pops up, select the column
that you wish to Bin. Next use [Stat] [Tables] [Frequency] applied to the /ist of bins that you just made to
create a frequency distribution. You need to select where to start the bins and the width of each of the bins.
Choose the start to be a nice number less than or equal to the minimum value. Choose the width so there
are between 5 and 8 classes or bins. Width is a nice number approx equal to (max-min)/6. In statCrunch the
bins include the lower class limit and do not include the upper class limit.

=5 feet.}):

_Frequency table results for Bin(Sort(Q2 Enter your height in Inches. 60 inche;
Bin(Sort(Q2 Enter your height in Inches. 60 inches = 5 feet.)) Frequency | Relative Frequency

60 to 63 020833333 |
T T )
(e R —r Wo.bémé&aéf

Histogram: We want the histogram to match our frequency distribution. Click on [Graphics] then select
the column with the original data. Set the bins to start one half units before the start of the first class, this is
the initial class boundary. In the example, I set

START BINS AT to 59.5 and
Bin Width is 3.

Fraquenty

.
7

1s

59.8 65, 685 7.5 745 7158
Q2 Entar your hetghtin inches. £0 Inches = £ fest

Save: To save your work click on [Options] select copy, open a Word document, paste you table or graph.
You can click on the corner to shrink the graph and change the font size to shrink your chart.
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Use the given data to construct a frequency distribution. :
4} A medical research team studied the ages of patients who had strokes caused by stress. The ages of 34 pahents
who suffered stress sirokes were as follows.
29 30 36 41 45 50 57 61 28 50 36 58
60 38 36 47 40 32 58 46 61 40 55 32

Construct a frequency table for these ages. Use 5 classes beginning with a lower class limit of 25 and a class
width of 8. This time we will use a histogram generated by our calculator to fill in our frequency distribution.

Enter this data into your calculator. Go to STAT->EDIT->L1 and enter data.
Set the WINDOW. The x-axis should include the ages and the y-axis should include the counts .
x~-min=25=lowest class limit
x-max=65 =25 +5*8 = Largest class limit
x~scale = class width
y-min = -2
y-max = Largest count +2
y-scale =1
Graph the histogram by selection STAT PLOT
turn it ON,
select the correct histogram graph,
Data: L1,
frequency= 1.
Use TRACE to see frequencies in each bin.  Fill in this table and draw the histogram.
Age Class | Frequency

Find the class midpoints and class boundaries.

5) Now use the Height Data from the class survey and Statcrunch to make a frequency distribution and histogram

6) Complete HW section 2.2 and 2.3 #6, 15, and 21 by making a frequency distribution and histogram for each of
these data sets using StatCrunch.
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Quiz 1 Math 15 Jones Name

Solve the problem. )
1) A gardener has 75 clients, 45% of whom are businesses. Find the number of business clients,

Form a conclusion about statistical significance. Do not make any formal calculations. Either use the results provided or
make subjective judgments about the results.
2) Last year, the average math SAT score for students at one school was 475. The headmaster introduced new
teaching methods hoping to improve scores. This year, the mean math SAT score for a sample of students was
481. Is there statistically significant evidence that the new teaching method is effective? If the teaching method
had no effect, there would be roughly a 3 in 10 chance of seeing such an increase. Does the result have
statistical significance? Why or why not? Does the result have practical significance?

a) Use critical thinking to find the flaw in the sampling method.

3) You plan to make a survey of 200 people. The plan is to talk to every 10th person conung out of the school
library. Is there a problem with your plan?

4) A researcher published this survey result: "74% of people would be willing to spend 10 percent more for energy
from a non-polluting source". The survey question was announced on a national radio show and 1,200 listeners
responded by calling in. What is wrong with this survey?

5) "38% of adults in the United States regularly visit a doctor". This conclusion was reached by a college student
after she had questioned 520 randomly selected members of her college. What is wrong with her survey?



